022% % FBFE

B EWHE £ %
I BEIRE
1 KBILA
NPOLE 5428 5000/ 100,000
XEREERE 3000 150,000 250,000
2 ZWMHFFE
— % 100,000
0FFEE 100,000
EEHR 100,000 300,000
3 ZWMBRESE
#HEMELEDRER D UBIR 90,000
ABRAZ2 =T 48tH 100,000
BARHHREUBERBEH I—T A — X 660,000
HETMEKRBEBI—T R — FEE 700,000
FOFHEHESE EOR) 10,000
0
0
0 1,560,000
4 FmEBE
EERRT 50,000 50,000
5 BEIRA
J—RH—IVEE 6,195,000
=R 9= )VINERIBZE D E] 738,000
N2 A 54 KRRR—R -5 0
BEEXE 300,000
Ho% @E 60,000
EEEE 20,000 7,313,000
6 ZDHDIXA
ZEFR 200
HURA 200
BEIRAEET 9,473,200
I BEEHRA
1 Ex%
") AtE
HWEFH 5,640,000
EERHNE 900,000
BHREE 322,000
thF%EJr 6,862,000
Q) Tz E
E i 500,000
FELEHE 500,000
FLELEHREBE 50,000
HERE 70,000
HERRE 50,000
REE 150,000
BIEE 85,000
FNRI& 447915
=3 20,000
BEfaw 160,000
FEREE 20,000
KBS EE 120,000
REE 10,000
HmRRE 1,029,000
e 100,000
Hic&E 100,000
HE 10,000
ZIFHEH 40,000
BT 20,000
EiEE 0
HeE 40,000
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LEERE 30,000
HWmE 180,000
1)—Z %4 25,000
AAEEAE 0
ZDHFES 3,756,915
BEEE 10,618,915
2 EEE
PN
WHFEL 2,160,000
EEENE 330,000
BYREE 100,000
ANEEE 2,590,000
" Q) TR E
B 86,400
FELEE 0
FELEFHREE 0
HELE 10,000
HERLE 10,000
REE 180,000
BIEE 10,000
ENRI& 10,000
=& 20,000
=Erig 20,000
HEREE 10,000
KB 1,200
REE 5,000
HMRRE 231,000
Rz 10,000
HHsE 150,000
e 5,000
T FEH 15,000
AR BT 10,000
BrEE 0
BB 30,000
LEERE 0
HhE 21,870
—R 0
S A2 0
ZDHIREST 835470
EHEE 3425470
BEERE 14,044,385
LR E R A 4571185
M FEs R
1 BEEIBRIBER 0
BN Et 0 0
NV &%5NER
1 BEEERBIEE 0
2 MK 0
BENER 0 0
T 5| B 2 £A IE BRBA EE 1R INZE A 4571185
14 HA 1F Ik BA FE 14 N8 A 4571185
BITHAAEHR IF R B 2R 16,128,489
REASRHIEREAZE AR 11,557,304
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